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4.2 Use Linear Equations in

\
Slope-Intercept Form /- ® ]
Y= mx-r-
Write an equation of the line in slope-intercept

form that passes through the point (-1,3) and
has a slope of -4. M Xy Y

Y=Y = ,.S\(x X))
N=2=-14§ (X~
~3=‘L’XIL4

15 2
Y= -bx =1 ]

Write an equation of the line in slope-intercept

form that passes through the point (6,3) and
has a slope of -2.m Xy Y
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= %——z(x—é)
7/ Q= —7ZX+ 12
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Write an equation of the line in slope-intercept
form that passes through the point (-3,-11) and

has a slope of%.m X Y

\/) — = M (X-—

/= ‘/£;§—~§:'

7+H= i(h+é>

7/+l'¢-'—‘- "Z‘X‘P 53: 29
~/ -~z

L de g I

Y2773

Write an equation of the line in slope-intercept
form that passes through (%,1) and (-% , 7).

M= 21-7,) X1 Y X2. o
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Your gym membership charge$_$35 per_mont after an
initial membership fee. Roger has paid a total of $250

after 6 months. ('\Q’J 2-";5'03

Months 1B
a) Write an equation that gives the total cost of a
gym membership as a function of the length of

membership. Ny v, =m _ v
— N
N-250=35(x-¢)
7)—250=35X-2.IO
+250 125D
\[ = 35% +40

b) Find the total cost of membersgip after l&m.an.th&
=35Q0) 4 yp
3 )

AT BMX racdRrddkcRardss 8 mémbershib T&E35d 51 175
entry fee per race. Deandre paid a total of $76 after 3
races. Chris paid a total of $124 after 7 races.

(2, 76 (#,124)
a) HoW m\ﬁ‘ch does the ’frac\fézmembershi cost?
=Y2-Yi \/’\/'=m—%Q,<) \
X2-X 3-76 = 120K )

= 124-%¢ -26= [1x =306
VV\"L;—.T +326 + 76 $HD

m= =12 Y= I2x(z10]
b) What is the entry fee per race

$??./mce

c) Write an equation that gives the total cost as a
function of the number of races entered.

Y=\LX+40
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